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STEP UP SERIES - 2022 
CSAT TEST - 1 SYNOPSIS 

 
1. Solution: A) 122 

Let the number be x. Then, as per the operation undertook by the student, we have  (x+12)/6 
= 112 .  
Therefore x= 660. 
Hence, correct answer should have been (660/6)+12 =122. 

2. Solution: c) 3 
Explanation:  
37 typists type 666 pages in 6 minutes 
37 typists type 111 pages in 1 minute 
1 typist types (111/37) = 3 pages in 1 minute 
1 typist types (3 X 60) = 180 words in 1 minute 
1 typist types 180 words in 60 seconds 
1 typist types (180/60) = 3 words in 1 second 

3. Solution: C) 45 days 
A and B together can complete a job in 18 days. So, in one day they will complete 1/18 th part 
of the job.Similarly, it takes A 30 days to complete the same job while working alone. Hence, 
in one day it will complete 1/30th part of the job.Hence, part of the job completed by B in one 
day = (1/18) – (1/30) = 1/45th 
So B will take 45 days to complete the job while working alone. 

4. Solution: B) Rs. 200 
Always the discount is provided on the marked price. Here 2 successive discounts are given. 
Let us assume that marked price is M. 
So first discount is 10%. Thus the price becomes 9/10 th. And the second discount is 20 %. Thus, 
price becomes 8/10. 
After allowing these two discounts price comes out to be 144. 
Now representing this mathematically: 
M × 9/10 × 8/10 = 144 
M × 72/100 =144 
M= 144 ×100/72 
M= 200 
Hence, option (b) is correct. 

5. Solution: a) 
1

6
  th 

Explanation: 

On every day evening, the stock remaining with the shopkeeper is 
1

6
th of stock. 

When 5 times the remaining stock is added, the overnight stock would be 
 1

6
+

5

6
= 1 i.e., full stock. 

Every day morning there will be same original stock every evening there will be 
1

6
 th of the 

original stock. 
6. Solution: C) 10 

As per the given data , 4 a 3 + 9 8 4 = 13b7 
Therefore, a+8= b or b-a=8  
Since 13b7 is divisible by 11, (7+3) –(b+1)=0. 
Therefore, b=9. 
As the value b-a=8, the value of a=1. 
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Therefore, value of (a+b)=(1+9)=10. 
Hence , option (c) is correct. 

 
7. Solution: B) 7:3 

Let the ages of father and son 10 years ago be 3x and x years respectively. 
Now, it‘s given that ten years from now, father's age will be twice that of his son. 
Thus, (3x + 10) + 10 = 2[(x + 10) + 10] 
or 3x + 20 = 2x + 40 
or x = 20. 
Therefore, required ratio = (3x + 10) : (x + 10) = 70 : 30 = 7 : 3. 

8. Solution: D) 870 
A person can go from Delhi to Meerut through any of the 30 routes connecting the two cities. 
Hence, there are 30 ways to go from Delhi to Meerut. 
Since he cannot come back through the same route as travelled by him earlier, he has to opt 
for one of the remaining 29 routes. Therefore he can return to Delhi in 29 ways. Thus, the total 
number of ways possible = 30 x 29 = 870 ways. 
Hence, option (d) is correct. 

9. Solution: A) Son 
Since Arun does not have any brother or sister, it means Arun’s father’s son is Arunhimself. 
Therefore, the man in the photograph is Arun’s son. 
Hence, option (a) is correct. 

10. Solution: A) 25% 
SI for 1st year=360/3=Rs. 120=CI for 1st year. 
SI for 2 years = Rs. 240. 
Now, CI for 2 years= 270 
So, Interest on SI for 1 year (i.e. Rs. 120)= 270 - 240 =Rs. 30 
Hence, the required rate = (30/120) × 100= 25% 
Hence, option (a) is correct. 

11. Solution:  B) Rs. 360 
Interest received from first investment = [(1800×10×1)/100] 
Interest received from second investment = [(1200×15×1)/100] 
Total interest = Rs. 360 
Hence, option(b) is correct. 

12. Correct Answer: B) 120 km 
Solution: 
Downstream speed = 9+6 = 15 
Upstream speed = 9-6 = 3 
Now total time is 28 hours 
If distance between A and B is d, then distance BC = d/2 
Now distance/speed = time, so 
d/15 + (d/2)/3= 28 
Solve, d = 120 km 
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13. Answer: B) 40% 
Explanation: 

 
 

14. Answer: C) 2016 
Explanation: 

  
15. Answer: D) 475: 442 

Explanation: 

 
 

16. Find the average number of males travelling via train in all years. (Consider the nearest 
integer). 
Answer: C) 56771 
Explanation: 
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17. Answer: D) 12875 

Explanation: 

 
18. Answer: C 

Justifications 
Statement A: This is an extreme statement and the passage doesn’t talk about not registering 
any PIL. Hence, it is wrong. 
Statement B: Although some have suggested regulations for PIL to curb its misuse, the passage 
does not explicitly suggest any such regulation. So, this option is not correct. 
Statement C: The passage suggests courts are applying their discretion to curb the misuse of 
frivolous PILs. Hence, this statement best matches with the implied conclusion of the passage. 
Statement D: The passage doesn’t talk about personal or individual matters entertained 
through PIL. Although Supreme Court guidelines ask court to avoid personal matters but 
certain personal matters such as concerning the rights of inmates, and child labour are 
entertained as PIL matters. Hence, this statement is wrong. 

19. Answer: B 
Justifications 
Statement 1: It is a punitive measure and may help in the long-term accountability but doesn’t 
mean that it will help Sri Lanka come out of the economic crisis. So, this is wrong option. 
Statement 2: Upgrading the credit rating of Sri Lanka may help it get cheap finance from the 
international market, thus helping it stem its twin deficit.  
Statement 3: Devaluing the Sri Lankan currency would definitely help increase export 
competitiveness and thus ease BOP crisis. 
Statement 4: Approaching IMF and WB would again help Sri Lanka to tide over a temporary 
cash crunch to fund imports of essentials. 

20. Answer: B 
Justifications 
Statement A: The passage talks about reducing the need for cement and increasing the 
durability of concrete (demand side) and not about improving the production process to make 
it less-carbon intensive. Hence, this statement can’t be inferred. 
Statement B: The use of Face masks has aggravated waste management issues, therefore, its 
use in the cement industry could reduce waste issues as well as increase the efficiency of 
cement as stated in the passage. Hence it is the most logical inference. 
Statement C: Although similar technology can be used for other materials as well but this is 
not the main inference of the passage. 
Statement D: It may be true that more studies are needed but it is not the main inference of 
the passage. 

21. Answer: D 
Justifications 
Here the argument is “Government needs to adopt more stringent vehicle standards and 
traffic rules to reduce cases of road accidents” 
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Statement 1: People not complying with the rules will weaken government steps to reduce 
road accidents. So, this is wrong option. 
Statement 2: Indian roads being poorly designed if true would further not help in reducing 
accidents. So even this statement will weaken the argument. 
Statement 3: Companies not adhering to global safety standards will further weaken the 
government's efforts. 
Statement 4: “Poor people being involved in road accidents more”, doesn’t weaken the 
argument rather it further strengthens government resolve to reduce the road accidents. So, 
this is the right option.  

22. Answer: D 
Justifications 
Statement 1: Nothing of the 1962 war with China is mentioned in the article. So this option is 
wrong 
Statement 2: This is an extreme statement and the passage doesn’t say India had never 
defeated an army before 
Statement 3: The passage doesn’t discuss about the political victory 
Statement 4: This is the most obvious corollary to the passage and is generally a proven fact. 
So, this option is right. 

23. Answer: C) 120 
Explanation:  
The first digit of the numbers can be occupied only by ‘5’  
Next digit can be occupied by any five left out numbers 
Next digit can be occupied by any four left out numbers and so on. 
Total no. formed = 1 × 5 × 4 × 3 × 2 = 120 

24. Answer: C) 8:3 
Explanation: 
Let the speed of boat in still water = x kmph 
Speed of current = y kmph 
(x - y) × 528 = (x + y) × 240 
(x - y) × 11 = (x + y) × 5 
11x - 11y = 5x + 5y ⇒ x ∶ y = 8 ∶ 3 

25. Answer: B) 2hr 
Explanation: 
They have to be 11 km apart, so total distance to be travelled by them is (55-11) = 44 km 
Since in opposite direction, so relative speed = 12+10 = 22 km/hr 
So time = 44/22 = 2 

26. Answer: C) 1/8 
Explanation: 
Time taken by A, B and C is x, 2x, and 3x 
3x = 12, x = 4 
Time taken by B to complete a work = 8 hr 
So part of work in 1 hr = 1/8 

27. Answer: B) 64080 
Explanation: 
Males = 55/100 * 1,20,000 = 50/100 of 1,20,000 + 5/100 of 1,20,000 = 60,000 + 6000 = 66,000 
Male voters = 48/100 * 66,000 = 50% of 66,000 – 2% of 66,000 = 33,000 – 1320 = 31680 
Females = 1,20,000 – 66,000 = 54,000 
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Female voters = 60/100 * 54,000 = 32400 
Total voters = 31680 + 32400 = 64,080 

28. Correct Answer: B) 35cm 
Solution: 
Solve it by the Common Factors Method: 
140 cm long = 4 × 5 × 7 
525 cm width = 5 × 5 × 3 × 7 
Hence common factors are 5 and 7 
Hence CF = 5 × 7 = 35 

29. Correct Answer: C) 7 
Solution: 
A+B = 25 
AB = 24 
(a-b)2 = ( a + b )2 – 4ab 
(a-b)2 = 252 – 4(144) 
(a-b)2 = 625 – 576 
(a-b)2 = 49 
a-b =  7 

30. Correct Answer: D) 4 
Solution: 
Solve this by Chain Rule method instead of Time and Work concept. 
M= Men W=Women 
2m + 6w = 10 D 
Or 2(1m + 3w) = 10D 
Or 1m + 3w = 20D (Since no of people and work done are inversely related) 
So 5(1m + 3w) = 20/5 
Or 5m + 15w = 4D 

31. Correct Answer: A) 148.83 
Solution: 
Required Average = (105+83+300+281+35+89)/6 =148.83 

32. Correct Answer: B) 985:844 
Solution: 
Required ratio = (300+300+300+360+370+340)/(275+280+281+280+285+287) 
= 1970/1688 = 985/844 

33. Correct Answer: D) 26 2/3 % 
Solution: 
Required Answer = (150-110)/150 * 100 = 80/3 % which is 26 2/3%. 

34. Correct Answer: C) 84 
Solution: 
Defective = 96*25% = 24. 
Unsold defective = 24*1/2 = 12 
Total sold items = 96 – 12= 84. 

35. Correct Answer: A) A 
Solution: 
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36. Solution: C) 7m 

Explanation: 
Area of the wall built by 20 men in 6 days = 8m × 7m = 56 sq.m. 
Area of the wall built by 120 men days = 8m × 7m = 56 sq.m. 
Now, 35 men in 3 days is equal to (35×3) = 105 men days. 
The proportionate work will be done by 105 men days. 
The area of the wall that can be built by 105 men days = (105×56)/120 
= 49 sq.m.  
The height of the wall is the same i.e. 7m. 
So, the width of the new wall = 49/7 = 7m. 

37. Solution: C) 36 
Explanation: 
For a number to be divisible by 3, the sum of all digits should be equal to multiple of 3. 
When 1 is placed in thousand’s place: 
Out of 0, 2, 3 and 4, the sum of the three numbers used should be 2, 5 or 8. 
So, only 0, 2 and 3 can be used. 
This can be done in 3! ways. 
When 2 is placed in thousand’s place: 
Out of 0, 1, 3 and 4, the sum of the three numbers used should be 1, 4 or 7. 
So, (0, 1 and 3) or (0, 3 and 4) can be used. 
This can be done in 3! + 3! ways. 
When 3 is placed in thousand’s place: 
Out of 0, 1, 2 and 4, the sum of the three numbers used should be 0, 3 or 6. 
So, (0, 1 and 2) or (0, 2 and 4) can be used. 
This can be done in 3! + 3! ways. 
When 4 is placed in thousand’s place: 
Out of 0, 1, 2 and 3, the sum of the three numbers used should be 2, 5 or 8. 
So, (0, 2 and 3) can be used. 
This can be done in 3! ways. 
So, the number such 4 digit numbers = 6 × 3! = 36. 

38. Solution: B) 7 
The number of diagonals = d = n (n-3)/2    (n = number of sides) 

But d = 2n 

Thus, 2n = n (n-3)/2 

4n = n (n-3) 

n = 7 

39. Solution: D) 3/4 
Explanation: 
When a coin is tossed and a dice is rolled, the possible 12 outcomes are as follows. 
{(H,1),(H,2),(H,3),(H,4),(H,5),(H,6),(T,1),(T,2),(T,3),(T,4),(T,5),(T,6)} 
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The following 9 outcomes are the desired outcomes 
{(H,1),(H,2),(H,3),(H,4),(H,5),(H,6),(T,1),(T,3),(T,5)} 
Therefore, the probability = 9/12 = ¾. 

40. Solution: C) South East 
Explanation:  

 
41. Answer: D 

Justifications 
Statement 1: It can’t be generalized for all the cases that children having good language skills 
are good at solving non-verbal problem. Hence it is wrong. 
Statement 2: The passage doesn’t specifically categorize at what age children learn language 
and problems solving skills. Therefore, the statement can’t be assumed.  

42. Answer: B 
Justifications 
Statement 1: This is the right message as the passage clearly talks about the relation between 
language skills and problem-solving ability. 
Statement 2: The passage doesn’t specifically talk about the school curriculum. 
Statement 3: The passage doesn’t talk about the duty of parents and the use of mother 
tongues. Hence it is wrong. 
Statement 4: This is reiteration of the 1st statement and therefore is also right. 

43. Answer: A 
Justifications 
Implications means the conclusion that can be drawn from something although it is not 
explicitly stated. 
Here all the provisions given will help fight malnutrition, anemia, under-weight, and stunting 
in women and children. Therefore, all the options 1,2,3, and 4 are implied here. 

44. Answer: B 
Justifications 
Statement 1: As per the passage, the study shows that the use of Anabolic steroids is more 
prevalent in people other than professional athletes. So, this statement is wrong 
Statement 2: Since in the passage it is given that anabolic steroids are similar to natural 
hormones, so it can be safely assumed that they can be used in medical treatments in deficient 
persons. 

45. Answer: B 
Justifications 
Statement 1: It is right that war threatens the present global order, but the passage talks about 
the ethics of war. 
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Statement 2: This is right statement as the moral component of war is equally important to 
understand the root cause and how it will end. Hence, this is the best critical message 
reflected in the passage 
Statement 3: Although many believe the Russian invasion is wrong but the passage doesn’t 
explicitly mention about invasion being morally wrong. 
Statement 4: It is right that any war impinges on democratic rights and values but this is not 
the most critical message conveyed by the passage. 

46. Solution: A) JAK 
Explanation: 
Looking at first letters: F, G, H and I. They are in alphabetical order. So, next letter is J. 
Second letter will be same i.e. A 
Third letters are G, F, I and H. From G, -1 and +3 alternatively. So, H + 3 = K.  
Thus, next in the series is JAK. 

47. Solution: B) F is sister of L  
Explanation: 

    
     
48. Solution: D) None of these 

Explanation: 

           
49. Solution: A) 151 

Seat numbers are numbered from left to right which is evident from the given data. 
Thus, Seat number of Ram = 153. 

http://www.insightsonindia.com/
http://www.instacourses.insightsonindia.com/


 
 

10 
www.insightsonindia.com                                                                    instacourses.insightsonindia.com  

Seat number of Sham = 154 
Seat number of Krishna = 152 
Seat number of Ishwar = 151. 
Hence, option (a) is correct. 

 
50. Solution: B) two 

Such numbers are 
A9$ and L2# 
Hence, option (b) is correct. 

51. Correct Answer: C) 10 
Solution: 

 
52. Correct Answer: C) 6 

Solution: 

 
 

53. Correct Answer: B) 14 
Solution: 

 
 

54. Correct Answer: C) 5 
Solution: 

 
 

55. Correct Answer: D) Both A and B. 
Solution: 

 
 
56. Solution: a) 8 

Explanation: 
There will be 8 smaller cubes which are painted in three faces. 
All these faces are painted with black on two faces and one face with white. 

57. Solution: a) 16 
Explanation:  
Here n = Cube root of 64 = 4 
There will be 12 (n-2) cubes which are painted on two faces. 
i.e. 12(n-2) = 12 (4-2) = 24 
There will be 8 out of total 12 edges which will have both white and black on them. 
Therefor 8(n-2) cubes which will have black on one face and white on another face i.e. 
8(n-2) = 8 (4-2) = 16 
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58. Solution: b) 4% decrease 
Explanation: 
Let the length and breadth of the rectangle be ‘x’m and ‘y’m respectively. 
Therefore, the new length = 60% more than x = 160% of x = 1.6x 
And the new breadth = 40% less than y = 60% of y = 0.6y 
Area of the new rectangle = 1.6x × 0.6y = 0.96xy sq.m. 
Area of the old rectangle = xy sq.m. 
The change in the area = xy – 0.96 xy = 0.4 xy 
The % change in the area = 4% decrease 

59. Solution: c) 13 
Explanation: 
09 – 03 – 2018 is Sunday. 
09 – 03 – 2019 is Sunday + 1 = Monday. 
09 – 03 – 2020 is Monday + 2 = Wednesday.   (Jumping February of leap year) 
If 09 – 03 – 2020 is Wednesday, 06 – 03 – 2020 is Sunday.  
But 06 – 03 – 2020 can be first Sunday.  
So, 13 – 03 – 2020 is the second Sunday. 

60. Solution: b) 1 Only 
Explanation: 
From statement I,       
        

 
 
       

       From statement ii,  
 
 
 
 
 

      From statement iii,  
 
 
 
 
 
 
 
 
      

 Among given conclusions only I follows. 
61. Solution: D) 16km/hr 

Explanation: 
Let the speed of the boat in still water be ‘b’ km/hr. 
Therefore, the effective speed in downstream and upstream are (b+6) and (b-6) respectively. 
Time for downstream = 11/(b+6) 
Time for upstream = 5/(b-6) 

 

Doors 
Racks 

Racks 

Trunks 

Racks 

Trunks 

Doors 
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As per the given condition, 

1 hour = 
11

𝑏+6
+

5

𝑏−6
  

(b+6)(b-6) = 11 (b-6) + 5 (b+6) 
b2 - 36 = 11b – 66 + 5b + 30 
b2 - 36 = 16b – 36 
b2 = 16b 
b = 16 km/hr 

62. Solution: A) 7 years 6 months 
Explanation: 
SI = PTR/100 
But, SI = (9/16) P 
Therefore, (9P/16) = PTR/100 
9/16 = TR/100 
TR = 900/16 
Since T = R, 
T2 or R2 = 900/16 
T or R = 30/4 
T = Time period = 30/4 years = 7.5 years = 7 years 6 months 

63. Solution: C) B and E  
Explanation: 
Nalanda House:  A and B  
Godavari House:  C, D, E and F  
Tall: D and F    
Short: A, B, C and E 
Glasses: A, C and D   
No Glasses: B, E and F 
B and E are short and not wearing the glasses. 

64. Solution: B) E 
Explanation: 
Nalanda House: A and B    
Godavari House:  C, D, E and F  
Tall: D and F    
Short: A, B, C and E 
Glasses: A, C and D    
No Glasses: B, E and F 
E is the short student of Godavari House who is not wearing glasses. 

65. Correct Answer: B) GIRXVEP 
Each letter forwarded 4 steps to obtain the code. 

66. Answer: B 
Justifications 
Statement A: It is a generalization and although some strategic PSUs are loss-making, they still 
contribute to economic growth. Hence it is wrong option. 
Statement B: This is the most logical inference as the government is not able to turn around 
PSUs and therefore trying to sell or liquidate them. 
Statement C: This is not always true and the government is adopting various means such as 
disinvestment, liquidation, including privatization. Hence, it is wrong option. 
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Statement D: Although the government introduced a new PSE policy, but that doesn’t mean 
the old policy was a failure. Hence it is also wrong option. 

67. Answer: D 
Justifications 
Statement 1: Passage doesn’t indicate anything about nationalization of companies in post-
independent India. Hence it is wrong. 
Statement 2: It can’t be assumed that strategic transfer of stakes has led to the upsurge in sell-
off of loss-making PSUs. Even Air India was sold with a lot of difficulties, despite stake transfer. 
Hence this option is also incorrect. 

68. Answer: C 
Justifications 
Statement A: The passage doesn’t talk about developing a resilient water supply 
Statement B: The passage doesn’t give  figure for deaths; it merely indicates that child survival 
is affected 
Statement C: This is a correct statement as climate change do increase the criticality of water 
resources and affects children as given in the passage 
Statement D: The passage doesn’t talk about the water cycle. It can be best implied that the 
water cycle is affected but is not the crux of the passage. 

69. Answer: D 
Justifications 
Statement A: Nothing about his smartness is written in the passage 
Statement B: The lessons might have shaped his future but no evidence is present in the 
passage that it shaped his vision for US presidentship 
Statement C: Nothing of such short is given in the passage 
Statement D: This may be a valid conclusion as also given in the last line of the passage.  

70. Answer: B 
Justifications 
Statement A: Nothing is mentioned in the passage about states not raising the fuel tax in the 
past. So, this is wrong option. 
Statement B: It may be considered right as the passage says that crude oil prices have been 
rising and the prime factor for high fuel prices is the central government’s increase in excise 
duty. 
Statement C: Nothing about investment in alternative energies is referred to in the passage. 
Statement D: Nothing about a bad fiscal balance sheet is mentioned in the passage. Hence it 
is also wrong option. 

71. Answer: D 
Justifications 
Statement A: This opposes the continental drift hypothesis  
Statement B: Genetic similarities could also be due to migration and not only because of 
continental drift 
Statement C: Similarities in climate have not much relevance with drift theory. Hence this 
option is also wrong. 
Statement D: This could best support the continental drift hypothesis. 

72. Answer: D 
Justifications 
Statement A: This is wrong as, despite the calamities of war and evil, there exists happiness in 
life as well. 
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Statement B: Although it is right that failure and success coexist, but the passage doesn’t talk 
about it. 
Statement C: World entrenched in vicissitudes of evil is just one aspect of life. Therefore, this 
option is also incorrect. 
Statement D: This is the central idea conveyed as shown in the last statement of the passage. 

73. Answer: A 
Justifications 
Statement 1: As per the passage, it can be safely assumed that miseries and happiness have 
been part and parcel of life throughout the ages. Hence it is the right option. 
Statement 2: It assumes a highly negative view of life, which is not always true. Hence it is 
wrong option. 

74. Answer: C 
Justifications 
Statement A: The passage doesn’t indicate anywhere that India will meet its SDG goals on 
education 
Statement B: This is a general inference and the passage says the focus is more on quality 
rather than merely universalization of education. Hence, it is wrong option. 
Statement C: This is the best inference that the passage conveys. Better and inclusive 
education will definitely help India meets its developmental goals. 
Statement D: This is a general suggestion but not the most critical inference of the passage. 

75. Answer: D 
Justifications 
Statement 1:  Lack of consumer information skews the demand and supply. Hence this is right 
option. 
Statement 2: In case of monopoly, despite demand, people have no choice and therefore this 
option also violates demand and supply rules. 
Statement 3: Veblen goods also violate the demand and supply rule. Hence all the three 
statements are correct 

76. Answer: A 
Justifications 
Statement 1: This is a plausible implication as Self-regulation will help ensure accountability.  
Statement 2: This is also a practical implication to regulate the tech industry as per their own 
ethical standards 
Statement 3: This is also a rational implication. 
Statement 4: This is wrong as a lack of accountability and ethical standards may lead to Tech 
companies impinging on the state. However, the passage talks about a call for more 
responsibility and accountability. It is wrong to say most of the tech companies have impinged 
on the domain of the state.  

77. Answer: C 
Justification: 
Statement 1 is correct since in the present form of thinking, the planet and humans are seen 
as two separate entities  
Statement 2 is also correct since harmonious order based on interconnectedness has been 
given in the passage. 

78. Answer: D 
Justification: 
Statement 1: This is a suggestion but not a summed-up passage. 
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Statement 2: This is also only part of the passage.  
Statement 3: Although, IPL has proved to be a good platform but this is not the summation of 
the ideas given in the passage. 
Statement 4: This can be said to be best summed up ideas as given in the passage. Hence, this 
is right option. 

79. Answer: D 
Justification: 
Statement 1: This statement is right as substantiated by the passage's last sentence.  
Statement 2: Nothing of spurious biofertilizer is indicated in the passage. So, this assumption 
is wrong.  
Statement 3: Nothing about schemes is indicted in the passage hence, it can’t be assumed.  

80. Answer: B 
Justification: 
Statement 1: It is not the message rather the reason for domestic violence. Hence it is wrong.  
Statement 2: Eradication of violence against women is definitely the message which can be 
inferred from the passage. Hence, it is right.  
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